ChadBot
Exercises
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Python Library

® faiss

® requests

® pyngrok import ngrok

¢ flask import Flask, request

* linebot import LineBotApi, WebhookHandler

* linebot.models import TextSendMessage

® sentence_transformers import
SentenceTransformer

* neo4j import GraphDatabase

® json

NLP Model

® sentence-transformers/distiluse-base-

multilingual-cased-v2

d=

Config ngrok

Config Flask

input_corpus.appe
input_corpus = lis
print{input_corpus)

input_vecs

Configuration

port = "Se88"
ngrok.set auth token("<AUTH TOKEN>™}
public_url = ngrok.connect(port).public_url

print{f"ngrok tunnel {public url}

> http://127.8.0.1:{port}")

Config Line

@app.route("”/chat",
def linebot(}:
body = request.get data(as text=True)
try:

methods=[ "POST"])

json_data = json.loads(body)

access_token CCESS_TOKEN>»'

secret = "<5

line bot a eBotApi(access token)

handler = WebhookHandler({secret)

signature = request.headers['X-Line-Signature"]
handler.handle(body, signature)

msg = json_data[ "events'][@][m e

tk = json_data[ events'][@][ " replyToken’

app = Flask({__name__)
app.config[“"BASE URL"] = public url
app.config[ "JSON_AS ASCII'] = False

if name == " main_":

app.run{port=5808)

Config neo4j with faiss

cypher_query = °°
MATCH (n) WHERE (n:Exercises OR n:Greeting OR n:Grateful OR n:Goodbye) RETURN n.name as name, n.msg_reply as reply

input_corpus = []
results =

run_query(cypher_query)

record in result

(record[ "name’])
st (set(input_corpus))

= model.encode(input_corpus, convert_to_ numpy=True, normalize embeddings=True)

input_vecs.shape[1]
index =

faiss.IndexFlatL2(d)

index.add(input_vecs)
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Answer from neo4dj
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Answer from Ollama
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Python Code
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https://github.com/Poadkee/ChadBot/tree/exercise



